FRH29FE BHR—/N—2ZFh—F A

FRE29F10F26 H(K) FBRIT/NLZERE - IHT—X
(5292y P72)

NELZ g £ r =B ToTAL OUT IN | JBfF g £ r = ToTAL OUT IN | JBfF g £ VA ToTAL OUT  IN

1 Ei KF EFi 78 38 40 20 HE H— EFH 85 44 41 46 ff ERX 91 46 45

2 WEx X F55EF 79 41 38 25 Zk £ HH 86 41 45 48 BE F7E wE 93 48 45

3 HI E 80 40 40 25 ZAX FEEF LDE 86 42 44 48 F RE =X 93 48 45

3 Al FlE Ews 80 39 41 25 BX BEZE  mzil 86 41 45 48 =7 BE F—FL1v 93 46 47

5 BE HE  AoE 81 41 40 25 AAXEX AF 86 46 40 51 XF & E#E 94 47 47

5 t&H EHE  ma/i 81 42 39 29 IEH B E5 87 40 47 52 &/l [E  #HAK 95 47 48

5 il EB= F 81 42 39 29 BEX B F—sx=/cLE 87 45 42 53 FH E— EFAE 96 45 51

5 M4 BEF EmE 81 39 42 29 KX FEEH BE 87 46 41 53 Bk IR REEF 96 47 49

9 HHB  FE AF# 82 42 40 29 HH JF LA 87 43 44 53 1EX (#EH =& 96 46 50

9 B FEF—  ver 82 43 39 29 BIE & ZE 87 44 43 56 HEF 4 2FuU 97 48 49

9 KkH XZ #B 82 40 42 29 AKX —FX AREE 87 42 45 57 T/l 4 vrorta 100 50 50

12 FH IF HK5EE 83 43 40 35 BEE ZEPE  ABC 88 42 46 58 fH =i FRER 106 54 52

12 =5 @ e 83 40 43 35 HH Hif #H 88 41 47 59 B EZ EXOF 171 58 53

12 X1t B #E 83 42 41 35 UEX BE woFay—2u 88 41 47 %# HEX EH E 6-60 R

15 BEA & A0EA 84 40 44 35 HFH BZE =% 88 43 45 E# BHE=AS  HxF

15 Bl BEF  FsE 84 42 42 35 KO 7 EFX 88 41 47 £ HH = BE

15 7 B AEEE 84 41 43 35 #  HFE LAY 88 43 45 xfE FH = HE

15 Al F oA 84 40 44 41 EH FI% ABC 89 46 43 xE HFH E @ FIF

15 BH F ~=— 84 43 41 41 FA B FAEE 89 47 42 xE BEEX FF =X

20 X EBE Ak 85 41 44 41 FH M= F&% 89 47 42 xfE BERFZ=RS  mEl

20 £2H IFa FRER 85 42 43 41 E B #HEEE 89 44 45 xpE XE E#H 5

20 7l HIFE EFHF 85 44 41 45 K/l FAX  #LK 90 44 46

20 X EBEEF WX 85 45 40 46 [FH # =K 91 43 48




